











. #
- - M - r
S . —
. - " . -
= -Ew -
- » ’
.. - i
’ N B o
v N 2
—— - —
— > PN e N -~
- - - ]
. - — L] - L ] —..4-
. ;4 T - 1 ]
£ o il ... 4 y B
f g -
% L - -
— iy . !
T | ———
. N y i o
— - - - -
] - - — s ~ - — -
F a2l . = 3 p—
il i - -
-— - - o - - -
FI = . [ ] ] - .
- —_ - —
’ i i%
e 7 - s N
. e -
‘ et 4% \
-— ! -
L . -— T ] & |
— - LN | -
—_ = B
4 — — —
. e
i L " — l.-l.“..ri -
- ——
‘N - - ' b -
- - | |
— - - .._“... - b
- - |
. = - o
- — - ™ J
o a———— -
] 4 r
i - 3 ' d E
s . J...h - il L -
- ire S (1 —
o ap o ! i -
« " i £2
— -3 i L]
- 1 . a - m— ——
- : iy n
e b - # -y =
X — Ly =
S— - ~ | — G
= ]
—_— ¥ . i - L=
. -1 - b o =
||..| - e
. : - © a-s F =
| . & Y i LS
“ai \







]
y
L |
L]
- - A
L | L
=
B
.
1 -
. t
- - -
- =
S -
I . .
- ' L™
. - -1 i
-
. .
- - 3 L
F -
1 i . =3 -
- b = a B
- . . .
- &)
- " - 4 i
L’
L ) - —_— — [}
L I Ll
— - i@ S—
| —— F—
L3 . -
. - — I
- - - | i
3 - [ - R - 4 =
- | =3 e - & § -
- -
e g i = P
= - — iy — e "
.
e L] - ¥
ke — Ll - -_—
] - 0 L8 e -
pN - ..I._| P \ M r—
- i J
i - '
—— "
S [ -
] =1 -
LE L J— Wi k
w - ! =
—— ! "N T . A
. s : J
. - [ L%
- = - "
b [ - - B p— - i——
- - -
— -
= e - B 1 LS -
- { F L g —
- L - — - -
L ™
—— :
s .
: \ A" )"
- - . - '
o ! - haad
- ’ LS cy ‘ | —
—— i b it
o - - L
\ - =
—
[l .F" Tl -
i - G
PR ¥ P
- — - i L
i — = - i P e T
- ¥ ¥ L
' = - | ] "] -
e — - e ——
. [ [ | -
] i [ _.n 1. [~ 1 G -
-
e - .
— - [ Ty [ Tad — .











































, J||

The negatlve sign mdlcates thatt_!s

4.5 m/s>.

Uniform acceleration
An object will undergo uniforr"n_.

law or from a knowledge of th%‘ " n
final velocities and the time lt takes L
change the velocity. .
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